Worksheets

Worksheet 1

1. Add: 2. Subtract:
hL daL L dL
2 3 4 dag g dg cg
4 5 3 9 2 7 O
1 2 7 - 13 5 9
3. Multiply: 5 km 2 hm 6 dam 9 m by 6. 4. Divide: 7g1dg4cg8mgby4.
5. 6.392kg = g 7.809L = mL
7. 9.516 g = mg
8. Add: 9.  Subtract:
0.593g 4.185dal
+ 16859 ~ 2.936dal
10. Ram bought 10.456 L of milk, Somu bought 9.250 L of milk and Chetan bought
8.705 L of milk. How much milk did they buy in all?
Worksheet 2
1. Add: dag g dg cg 2. Subtract: hm dam m dm
0 8 5 3 2
9 - 6 2 6 8
+ 1 8
3. Multiply 4kL3halL7daL 8L by?9. 4. Divide 5L6dL3cL 1mL by 3.
5. 700dg = g 6. 1500000 mL = L
7. 6.520 km = m
8. Add: 3. 452 km 9. Subtract: 6. 358 kL
+ 2. 973 km — 5. 089 kL
10. There are 5 bags of sugar in a store room. Each bag weighs 49.765 kg. What is

the total weight of the bags?
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Answers to Worksheet 1

1. 8hL1daL5L6dL 2. 7dag 9g1dg1cg
3. 31km6hm1dam4 m 4. 19g7dg 8cg7mg
5. 6392¢ 6. 7809 mL 7. 9516 mg
8. 2278g 9. 1.249 daL 10. 28.411L

Answers to Worksheet 2

1. 9dag9g3dg2cg 2. 2hm2dam 6 m4 dm

3. 39kL4haLOdaL2L 4, 1L8dL7cL7mL

5. 70g 6. 1500 L 7. 6520 m

8. 6.425km 9. 1.269 kL 10. 248.825 kg
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